Приложение 1
[bookmark: _GoBack][image: https://ds05.infourok.ru/uploads/ex/03dd/0011b71c-b8b91e73/hello_html_c80fde2.jpg][image: https://avatars.mds.yandex.net/get-zen_doc/1862846/pub_5e6a159b5935265c523d2d8b_5e6a293a00fd397bb479a7cd/scale_1200]


[image: https://avatars.mds.yandex.net/get-zen_doc/175962/pub_5cf60f0483e84200af3dd13c_5cf74a909511bd00afb4e77f/scale_1200][image: https://avatars.mds.yandex.net/get-zen_doc/1077599/pub_5bfee2ae6cbc850b506c2dea_5bfeee18ae14d30aaa386310/scale_1200]
image1.jpeg




image2.jpeg




image3.jpeg




image4.jpeg
S 1 e =N





